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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed
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Guidance

1. Read each question carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings

7
Revision for this topic

www.corbettmaths.com/contents

Video 157
Video 158
Video 159

© Corbettmaths 2015




1 The test scores from the students in a school are summarised in the table.

Test scare, x| Frequency | g,wj Jm?
0<x¢30 | 15 o

dad
2.8
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03

30<x<40 | 22
40.<xs50 28
0« x <70 30

70<x <100 9
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Draw a histogram for this data.
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The waiting times, h hours, for 40 patients at an accident and emergency

department in one evening is shown below.

( Woi*lting fime,_h ‘

 —— e —— —p e e e

Frequency =

. 0<h<05 8

10

. 1<h<l5 | 7
i 15<h¢3 | 9
. 3<h<5 | & @

Draw a histogram for this data.
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3. The salaries, p pounds, of 10950 people in a town is shown below.

Salary, p Frequency

f.-a,mJ Ju\s#j

.~ 0<p<8000 1200

015

8000 < p < 15000 1750

0:25%

15000 < p < 25000 4500

0-45

25000 < p < 40000 1500

0l

40000 < p < 80000 2000 0-05
Draw a histogram for this data.
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4. The lengths of 200 fish in a pond, / centimetres, are recorded below.

Length, |

Frequency

O<l<4

36

4<|¢6

6<|<8

8<l<12
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12<1¢<20

i

Draw a histogram for this data.
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D The table gives information about the hours Easyair pilots have spent flying, t
hours.

Time (thours) | Frequency | fwm»d J’”*’B

0<t<100 | 24 - 0-24
100<t<150 | 21 ol
150<t<200 | 17 0- 3%
 200<t<350 | 24 | g./4
- 350<t<500 | 9 | 0-0é

(a) Draw a histogram to show this information.
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(3)
(b) Estimate the number of Easyair pilots who have flown under 50 hours.
(1)
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The histogram shows the distribution of time spent flying by Ryanjet pilots.

Fr'equency Density
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(c) Estimate the number of pilots who have flown under 250 hours.
Qoo X 0-35 - Zo

(d) Make one comparison between the distribution of time spent flying by pilots
from Easyair and Ryanjet.

..............................................................................................................

- boynr fpue 33 élﬁ who /wz /Z (1)
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6. The table gives information about the lengths, / metres, of fish in a pond.

lengthem) | Frequeney | frepeey sy
" 0<1<8 ""a"-‘m A - )
B0 | 7| 35
o<tz | 9| 45
12<1¢<16 | 6 | &%
T l6<ic20 | 2 05

Draw a histogram to show this information.
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& Below is a histogram showing information about the weight of parcels.
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Weight (kilograms)

Use the histogram to complete the frequency table.

Weight, w ] Frequency
. 0<w¢l5 |5 53610
15<w¢25 15 | X 15
25<w¢3 9 0-5 % 18
3<w¢45 | S
45<wsb 9 5% 4

(3)
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8.  Below is a histogram showing information about the value of antiques.

0.8} S T e e
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Value, £
Use the histogram to complete the frequency table.
,l Values, v 'r Frequency
 0<v<300 90 200 0D
| 300+<v <500 o 10§ E doo* 0°54
500 < v < 600 20 loo % 0-F
600 < v < 800 72 200X 038
800 < v < 1200 Lo boo X O)
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9. A group of students were asked to complete a puzzle.
The histogram shows the distribution of the times taken.
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(a) Work out how many students took between 50 and 70 seconds to complete
the puzzle.

dOX 35

.........................

(b) Calculate an estimate of the number of students who took under 30 seconds
to complete the puzzle.

20 %X
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10.  The histogram shows information about the speeds, in miles per hour, that cars
travelled through a village. The speed limit is 60mph.
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Speed (miles per hour)

Work out the percentage of cars that were under the speed limit of 60mph.

—nLoﬁv[ /\Vﬁj@f 0\0 s = 300
tnde: B0 50 + 46 FF3 = L84
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11. The histogram shows the ages of visitors to a library on one morning.
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What percentage of visitors were over 40 years old?

Over [H) » ?;7"50 = ,ar
pid o 430

.........................
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12.
of dogs.

4

The incomplete table and histogram give some information about the weights

density

f SRS ANEER
Frequency 2| =1

spiE

s

} ! $ v $
-1 ¢ t ¥ '
I ' f Bass aas: et
: i f : : 4
aE SEe e + B e R T e e RIS Wt -
S8 8 B S 6 - : n gRaw
! -
1 {
} { B
{
b 3 i
i ' '
T

0 V& o

‘ 121
l 3 . }
| )
* . +—4+ ‘ ‘
{ i |
g T 1 ¥
} ¥ 3 . 4 )
- H - . 1
1 ! B B B
{ > 3.4 - P S
- . P — - 3 > - + S ,r-.- ——e
- ¢ | S :. -+ - ! -
..... | 3 . +
i
3 |I . . 1
{
-— - o — — -'~—-’ -— AR e e ——

o]
R N

——

20

0

50

60

Weight (kg)

Use the information in the histogram to complete the frequency table.
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weight (w kg)

Frequency

O<w¢10

34

10<w<15

33

15<wsZQ

26

20<w< 40

40

40<ws55

6 ]

J

3.
jox [ 1734

5x£}=3()
2ox(Z)

(2)




13.  The table and histogram give some information about the heights of plants in a
greenhouse.
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(a) Use the histogram to complete the frequency table.

_ Height (hcm) | Frequency | 5)
 0<h<20 | 800 2o Xl ] =8P

20<h<30 | MEo | oy HE 3 /48O
30<h<40 | 1200 | JRog 210 2 1 R0
40<h<70 1800 18007 307 bo
70<h<100 | /o8 | Boyx 34 :/ogo
(2)

(b) Use the table to complete the histogram.

(2
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14. The histogram shows information about how far 150 children swam, when trying
to get their swimming certificates.
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Ov

(@) Complete this frequency table.
_Length, I metres | Frequency |
~ 0<l<20 | 30 |
20<1<40 [ 420 a0 x 2
- 40<|¢<50 25 |
5060 T3¢y x 29
- 60<1<100 24 |

(2

(b) 10% of the swimmers swam further than y metres. L5

Calculate an estimate of y. 0. 6 X D = 5

/
qo% ! IO‘Z ........................

© Corbettmaths 2015




15.  The histogram shows the speeds in miles per hour of 82 cars on a road.

0Y 20 25 30 35 407450 55 60 &5

Speed, miles per hour

e S e i oS (PSRRI SSSSD P r---_

{

14 cars were travelling over 50 mph.

Calculate an estimate of the number of cars that were travelling between
42 and 49 mph.

| 7S oquees 4 urs
ERE [ @

L.
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16.  The histogram shows the weights in kilograms of 504 athletes.

s’ HH
_“f_ xxa

x { 1 &=
0 40 50 60 70 80 90 100 110 120 130
Weight, kilograms

45 athletes weigh under 60kg.
Calculate an estimate of the number of athletes between 70 and 95kg.

45"‘:#%37-5—57»%
ke 2 25 sques

qos—: 1% = 243
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17. The histograms shows information about the time taken by 140 students to
complete a puzzle.
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(a) Complete this frequency table.

i Tme Tseconds ; Frequency !

o<t<40 | 4

_40<ts60 | g doX &Y
ﬁ 60<t<70 , 33 1

| 70<t<80 f“:f:_-_i@_“ 10X 34
| 80<T<120 16 ;

(2

(b) Calculate an estimate of the median.
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.........................
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18.  The histogram shows the weights of 700 dogs.
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(a) Calculate an estimate of the median.

250 %"

P TRIL

(b) Calculate an estimate of the upper quartile.
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[Z b 14Sw< U
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